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Each boy catchas 2 wormes a day. I 3 boys caich 54 worms in alll how

any days do the boys take to catch all the worms?
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4 205 people visited the art galery indune. 827 fawer peopie visitea th

callery in July than in Juna. Find the total number of ;)eopi@ whe vis

the gallery over ths two months.
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lcolm picked 52 seashelis less than Rubaon. if tha twe bhovs pickad 3

17
ashelis in total,
how many seashails did Maitolm picik ?
how many ssasheails did Ruben glek 7
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Mr Lint had 8 boxes of pears. £Each box containes

naars to his neignhbour and soid the iest for 3 at

from selling the pears?
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